pr (GeV) (Q)  ag(my) (tot)  ag(Q)  (fit) (scale) (model) (param.) (tot)

0.00T3 0.00TT —F0.000018 0.0006 00 00012
74-220  103.06 0.1182 Tggos 01160  “oooir  “ooooos. - 0.0004 00 0011
0.0011 0.0007 0.0 0.0004 0.0 0.0008

220-395  266.63 0.1184 Tgo, 01019 ooz TUoos 000029 0000033 00009
0.0012 0.0007  +0.0 0.0004 0. 0.0008

395-638  464.31 0.1179 Tygo;  0.0947 ooy Tooooos2 000027 0000008 0.0008
638-1410  753.66 0.1184 ({015 0.0898 “0000¢  00ooos o000z o 00007
0.0020 00007  +0.0004  +00005  +000004  +0.0010

1410-3103 1600.5 0.1170 Tg07e  0.0821  Fgooer 0o toooms  Too 00008



